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' Answer o,rrg IlLc questbns.

1. /o) Define stoichiometry, respiratory
quotient, theoretica.l oxygen demand.

10

(b/ Briefly discuss about up-stream process
of yeast fermentation (strain ieolation,
calibration of probes, sterilization,
inoculation etc). 10
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7. Suppose a microbial species obeys Monod
model

M---lsllrlatx/At=-'!gt-.'+J
,1s + lSJ

where M,,.,= O.7lw-r

Ks=59/ L

Cell leld = 0.65

The micro-organism is cultured in a CSTR.
The feeding rate and substrate concentration
oi inlet are SOOL/ tv and 85 g/, respectively.
The substrate concentiation of outlet streart
is 5glr. Calculate size of Fermenter and
ceU concentration of outlet stream at steady
atate, 20
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